$360 is shared between Mark

$92 OOO and Viviennein theratio of 7:5. What is 25% of $270?
! How much doesMark get?

Bob inherited Y/, of his
grandfather’s estate and his sister,
Meg got /5. Between them they
received $36000. What wasthe
estateworth?

Five cans of corn cost $8.50.
What isthe cost of 7 cans?

Three quartersof Sam’sbank
account savings amountsto half
$96 OOO of Sadie's. Sadie has $480. How I ncrease $84000 by 10% .
! much does Sam havein his
account?

Thejackpot in a sweepstakeis

Maggie'sincome s $48,000 and shared amongst: Steph, Julieand

thisistwo thirdsof Simon’s A X
: o ) Méel in theratio of 4:3:2. If Mel
$9214OO income. What isSimon’s $721OOO gets $15,000, How much isthe
jackpot worth?

David receivesroyaltiesfor his Therate of pay for a software
book at therate of 2% of total engineer is$64 an hour. What is
$67, 500 sales. Sofar he hasreceived $750’ OOO the gross earningsfor a software

income?

$15,000. What arethetotal engineer who worksfor 40 hours
sales? 30 minutes?

An estate agent has a boom year
and receives 1.25% of histotal $450 : $540 = $x : $6480.
$21592 sales of $64,000,000. How much $8001000 What isthevalue of x?
does hereceive?

At aclothing sale Jim buysatop Mike and Jane spend $260 a
for $49.00. What wasthe week on rent and food. Two fifths
original priceof thetop if it was of thisamount is spent on food.
discounted by 30% ? What istheir weekly rent?

It takes Yvonne 15 hoursto earn Rana has saved seven eighths of
$225. If sheworksfor 40 hours the amount sherequiresasa
she has enough to buy the bike deposit on ahouse. Shehasto
shewants. How much isthe save $1200 more. How much is
bike? her deposit?

Mimi banks 33Y; % of her net A car rental business spendsone
weekly income and spendsthe sixth of profitson advertising and
rest on living. What isher net onethird on maintenance. This
weekly incomeif she banks $270 leaves $46,000. What arethe
each week? profits?




